6.5 - Equation of Lines - Day #2.notebook January 06, 2016

Warm up

1. Determine the equation of a line with a y-intercept
of 5 and a slope of 2/3? (Slope Intercept Form)

2. Determine the equation of a line with a slope of 4
and passing through the point (-3, 5).
(General Form)

3. Determine the equation of a vertical line passing
through the point (-3, 5). ( Slope Point Form)

4. Determine the equation of a line passing through
the points (5, -2) and (2, 8). (General Form)
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1. Determine the equation of a line with a y-intercept
of 5 and a slope of 2/37 (Slope Intercept Form)

b=56 wm=%
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2. Determine the equation of a line with a slope of 4
and passing through the point (-3, 5).
(General Form)

m= 4 ?ofn’}" C"é\\ %,)
o = )

3~6=%(X—i—3)
=Y+ 2
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3. Determine the equation of a vertical line passing
through the point (-3, 5). ( Slope Point Form)
\.

m=L (-3,5)

y9-60-0

J757 & (+3)
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4. Determine the equation of a line passing through
the points (5, -2) and (2, 8). (General Form)

3 Y‘) (4 §> Slope™ =3 2 ook (5 \‘b
'{t’ 2\, \ij m(x X\)

" 8:3' 2 3= ‘15%(\( 5)

3 —5§ +—(o—-loL
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IOX +3y+6-50 =0

0y +39y =0
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